BLUE FOLDER ITEM

Blue folder items are additional back up material to administrative reports and/or public comments received after the printing and distribution of the agenda packet for receive and file.

CITY COUNCIL MEETING JULY 19, 2022

N.1 DISCUSSION AND POSSIBLE ACTION PERTAINING TO THE CALLING OF A SPECIAL ELECTION IN THE MATTER OF A RECALL AND ESTIMATED ELECTION COSTS IN CONSIDERATION OF CONSOLIDATING A SPECIAL ELECTION FOR THE QUALIFIED CITYWIDE CANNABIS-REGULATION INITIATIVE; AND,

ADOPT RESOLUTION NO. CC-2207-057; A RESOLUTION OF THE CITY COUNCIL OF THE CITY OF REDONDO BEACH, CALIFORNIA, CALLING FOR THE HOLDING OF A SPECIAL MUNICIPAL ELECTION AND REQUESTING THE BOARD OF SUPERVISORS OF THE COUNTY OF LOS ANGELES TO CONSOLIDATE A SPECIAL ELECTION FOR DISTRICT 4 TO BE HELD ON TUESDAY, NOVEMBER 8, 2022 WITH THE STATEWIDE GENERAL ELECTION FOR THE SUBMISSION OF THE QUESTION OF THE RECALL OF CERTAIN OFFICER AND THE ELECTION OF CANDIDATE IF THE RECALL PREVAILS; AND

ADOPT BY TITLE ONLY RESOLUTION NO-2207-058; A RESOLUTION OF THE CITY COUNCIL OF THE CITY OF REDONDO BEACH, CALIFORNIA, ADOPTING REGULATIONS FOR CANDIDATES FOR ELECTIVE OFFICE PERTAINING TO CANDIDATES STATEMENTS SUBMITTED TO THE VOTERS AT A SPECIAL MUNICIPAL ELECTION FOR DISTRICT 4 CONSOLIDATED WITH THE STATEWIDE GENERAL ELECTION ON NOVEMBER 8, 2022.

LOS ANGELES COUNTY REGISTRAR THREE (3) COST ESTIMATES* FOR CONSOLIDATING CITY SPECIAL ELECTION WITH NOVEMBER 8, 2022 STATEWIDE GENERAL ELECTION:

- 1) Recall Only \$36,899.00;
- 2) Recall with Citywide Measure (without full text of initiative ordinance) \$214,760.96
- 3) Recall with Citywide Measure (with 39-page full text of initiative ordinance) \$297,568.26
- 4) The County has declined to assist in conducting our special election on any other dates other than in consolidation with the November 8th Statewide General Election.

*County confirms that there is a 5.5% COLA increase which could potentially increase the overall price by \$5K for the City/Complete and \$1K for the District (recall) Only. Changes in these estimates do not include unanticipated increases in labor and/or operational costs which may result in significant variances.



VOTING & ELECTIONS RECORDS COUNTY CLERK NEWSROOM PUBLICATIONS JOBS CONTACT



Election Estimating Calculator

Go to Election **Estimate Home**

Select Estimate Type

Select Jurisdiction(s)

Estimated Result

The estimated cost is based on the cost factors below. Any changes to the election cost factors will impact the final costs for your jurisdiction.

If you need cost estimates for other elections or further assistance in using the cost estimate calculator, please contact our Election Billing team at electionbilling@rrcc.lacounty.gov.

CITY OF REDONDO BEACH - 2022 - General Election

CITY OF REDONDO BEACH 4TH COUNCIL

Voter Count	Rate Breakdown	Estimated Cost
Registered Voters (RV)	9,474	
Election Operations (rate * RV)	\$2.4502 * 9474	\$23,213.19
Vote By Mail Processing (rate * RV)	\$0.5422 * 9474	\$5,136.80
Sample Ballot Processing and Printing		
Office(s)/Seat(s) (rate * No. of Offices * RV)	\$0.0146 * 1 * 9474	\$138.32
Measures(s) (rate * No. of Measures * RV)	\$0.0146 * 1 * 9474	\$138.32
Measure Text (rate * No. of Text Pages for all measures * RV)	\$0.0440 * 8 * 9474	\$3,334.85
Voting Information (rate * RV)	\$0.3268 * 9474	\$3,096.10
Candidate Filing and Campaign Finance (rate * No. of Candidates)	\$1440.7155 * 0	\$0.00
Election Preparation Cost (Flat rate per jurisdiction)		\$1,841.42
CITY OF REDONDO BEACH TOTAL ESTIMATE		\$36,899.00

DISCLAIMER: Please note that calculating an estimate using the Election Cost Estimate Calculator is not consent or agreement to hold, consolidate or provide support services for an election. Requests from jurisdictions for any election scenario must be received in the form of an adopted resolution or other official document and considered by the Board of Supervisors and Registrar-Recorder/County Clerk at the appropriate time. For more information, please contact the Election Information and Preparation Division at ecu@rrcc.lacounty.gov.













About Us Privacy Policy User Rights Disclaimer Site Map Accessibility



VOTING & ELECTIONS RECORDS COUNTY CLERK NEWSROOM PUBLICATIONS JOBS CONTACT



Election Estimating Calculator

Go to Election **Estimate Home**

Select Estimate Type

Select Jurisdiction(s)

Estimated Result

The estimated cost is based on the cost factors below. Any changes to the election cost factors will impact the final costs for your jurisdiction.

If you need cost estimates for other elections or further assistance in using the cost estimate calculator, please contact our Election Billing team at electionbilling@rrcc.lacounty.gov.

CITY OF REDONDO BEACH - 2022 - General Election

CITY OF REDONDO BEACH - At Large

Voter Count	Rate Breakdown	Estimated Cost
Registered Voters (RV)	48,256	
Election Operations (rate * RV)	\$2.4502 * 48256	\$118,236.85
Vote By Mail Processing (rate * RV)	\$0.5422 * 48256	\$26,164.40
Sample Ballot Processing and Printing		
Office(s)/Seat(s) (rate * No. of Offices * RV)	\$0.0146 * 0 * 48256	\$0.00
Measures(s) (rate * No. of Measures * RV)	\$0.0146 * 1 * 48256	\$704.54
Measure Text (rate * No. of Text Pages for all measures * RV)	\$0.0440 * 8 * 48256	\$16,986.11
Voting Information (rate * RV)	\$0.3268 * 48256	\$15,770.06

\$1440.7155 * 0

CITY OF REDONDO BEACH 4TH COUNCIL

Candidate Filing and Campaign Finance (rate * No. of Candidates)

Rate Breakdown	Estimated Cost
9,474	
\$2.4502 * 9474	\$23,213.19
\$0.5422 * 9474	\$5,136.80
\$0.0146 * 1 * 9474	\$138.32
	,
	\$138.32
\$0.0440 * 8 * 9474	\$3,334.85
\$0.3268 * 9474	\$3,096.10
	\$2.4502 * 9474 \$0.5422 * 9474 \$0.0146 * 1 * 9474 \$0.0146 * 1 * 9474 \$0.0440 * 8 * 9474

Election Preparation Cost (Flat rate per jurisdiction)

\$1,841.42

\$0.00

CITY OF REDONDO BEACH TOTAL ESTIMATE

\$214,760.96

DISCLAIMER: Please note that calculating an estimate using the Election Cost Estimate Calculator is not consent or agreement to hold, consolidate or provide support services for an election. Requests from jurisdictions for any election scenario must be received in the form of an adopted resolution or other official document and considered by the Board of Supervisors and Registrar-Recorder/County Clerk at the appropriate time. For more information, please contact the Election Information and Preparation Division at ecu@rrcc.lacounty.gov.













About Us | Privacy Policy | User Rights | Disclaimer | Site Map | Accessibility



VOTING & ELECTIONS RECORDS COUNTY CLERK NEWSROOM PUBLICATIONS JOBS CONTACT



Election Estimating Calculator

Go to Election Estimate Home

Select Estimate Type

Select Jurisdiction(s)

Estimated Result

The estimated cost is based on the cost factors below. Any changes to the election cost factors will impact the final costs for your jurisdiction.

If you need cost estimates for other elections or further assistance in using the cost estimate calculator, please contact our Election Billing team at electionbilling@rrcc.lacounty.gov.

CITY OF REDONDO BEACH - 2022 - General Election

CITY OF REDONDO BEACH - At Large

Voter Count	Rate Breakdown	Estimated Cost
Registered Voters (RV)	48,256	
Election Operations (rate * RV)	\$2.4502 * 48256	\$118,236.85
Vote By Mail Processing (rate * RV)	\$0.5422 * 48256	\$26,164.40

Sample Ballot Processing and Printing

Office(s)/Seat(s) (rate * No. of Offices * RV)	\$0.0146 * 0 * 48256	\$0.00
Measures(s) (rate * No. of Measures * RV)	\$0.0146 * 1 * 48256	\$704.54
Measure Text (rate * No. of Text Pages for all measures * RV)	\$0.0440 * 47 * 48256	\$99,793.41
Voting Information (rate * RV)	\$0.3268 * 48256	\$15,770.06

Candidate Filing and Campaign Finance (rate * No. of Candidates)	\$1440.7155 * 0	\$0.00	
--	-----------------	--------	--

CITY OF REDONDO BEACH 4TH COUNCIL

Voter Count	Rate Breakdown	Estimated Cost
Registered Voters (RV)	9,474	
Election Operations (rate * RV)	\$2.4502 * 9474	\$23,213.19
Vote By Mail Processing (rate * RV)	\$0.5422 * 9474	\$5,136.80

Sample Ballot Processing and Printing

Office(s)/Seat(s) (rate * No. of Offices * RV)	\$0.0146 * 1 * 9474	\$138.32
Measures(s) (rate * No. of Measures * RV)	\$0.0146 * 1 * 9474	\$138.32
Measure Text (rate * No. of Text Pages for all measures * RV)	\$0.0440 * 8 * 9474	\$3,334.85
Voting Information (rate * RV)	\$0.3268 * 9474	\$3,096.10

Candidate Filing and Campaign Finance (rate * No. of Candidates)	\$1440.7155 * 0	\$0.00
--	-----------------	--------

Election Preparation Cost (Flat rate per jurisdiction)	\$1,841.42

CITY OF REDONDO BEACH TOTAL ESTIMATE

\$297,568.26

DISCLAIMER: Please note that calculating an estimate using the Election Cost Estimate Calculator is not consent or agreement to hold, consolidate or provide support services for an election. Requests from jurisdictions for any election scenario must be received in the form of an adopted resolution or other official document and considered by the Board of Supervisors and Registrar-Recorder/County Clerk at the appropriate time. For more information, please contact the Election Information and Preparation Division at ecu@rrcc.lacounty.gov.













About Us | Privacy Policy | User Rights | Disclaimer | Site Map | Accessibility